EEIEmRTARAT NOVOLCK

TEX Z&5I{E 8
BHEUfRERRE, BT, FEMEE
TESFETIE 200 mm, B5IPELR IP 54

FER:

o HMRZE

o PiinaeR IP54

o fRREARIT ST AT

o FFani, ARBHZFMET, fHmnlik 5000 J5ikias)
o SHERMT 0.01 mm

o &Mk, 5 £0.05%

o B AT 455 g sRoE il

o RS

o iy LA R A S 1 07 SURT

Rk A e, %
G, RETKXREZHE,
AR T, TR
R LR B 22

iR I AL PRI,

W Jo T E R E L.

fle B A% HL A0 B T O %
M8 stz / b a4 .

HeRBEERS mA
S AL R IR 22 e L
2 LA TEX 7= &80k

¥ B
s 5 GRS R A
7% ILP
EiA Lis ANEH (1.4304), WIhEs:
AL, Al M2.5 SMRSCRNEN SURE TR
ok Bk
BRI LR
EUEREE B 452 8 2 Sl M R
AR 3 £ M8x1 Bl Hek

345 PUR B85, 3x0.14mm*, K 2 K8k 5 %

TEL : 400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



EEIRgaFaRAs NOVOLCK

I

1
£ TSN & -
SR QI A i) 2.8 -
i H 218 H B R 5 Nm

7,5

i/
J
10
16
?8
@18

/

8.6

-
]
/I__l

12,5

TEL : 400-900-8812 &BX : 18017400327 www.jjx88.com luck@jjx88.com



EEIEmRTAaRAT NOVOLCK

BEEX TEX TEX TEX TEX TEX TEX TEX TEX TEX
0010 0025 0050 0075 0100 0125 0150 0175 0200
BESH BT
TAEER 10 25 50 75 100 125 150 175 200 mm
WAFTRE 12 27 52 77 102 130 155 180 205 mm
Frifi B 1 1 2 3 4 5 6 7 8 kQ
iR A 20 +%
ST L 0.25 0.2 0.1 0.1 0.1 0.05 0.05 0.05 0.05 +%
QER-AA 0.01 (et fudk ) mm
R A LI <1 LA
St iR 15 KWL T 10 mA
IR AUVF LA R 42 \Y
i 1 PR 5 R R I A R AR i 5 ppm/K
%% BLHi (500 VDC) >10 MQ
#2358 i (500 VAC, 50 Hz) <100 pA
HHSH
Shsete g (RoFA) 63 78 103 128 153 194 219 244 269 + 2mm
PAFRE (RS B) 14 29 54 79 104 132 157 182 207 + 2mm
kD 25 25 50 75 95 98 105 113 121 + 2mm
R=f D2 41 4 50 75 95 98 105 + 2mm
N
WS TEX- _ - 42_- 002-202 80 85 95 105 115 155 165 175 185 g
i TEX- ___ _ - 42_- 002-101 50 55 65 75 85 125 135 145 155 g
A xhgess 10 g
TAEZN
K- 75 1) 5.6 (£ RT = 20°CHi ) + 08N
[ES LR
JERRA S 49 43 35 28 24 21 20 20 20 Hz
TESH
ERGEY S -40 ... +85 Cc
A S 0...95 (Jcikit) % R.H.
P die Al br ik 5 ... 2000 Hz
A w=0.75 mm
3= 20 g
Pk 50 g
6 ms
Hi i i >50 x 10° x
KB AT 5 m/s
s 471265 4% IP 54 DIN EN 60529
3

TEL : 400-900-8812 ZBT : 18017400327 www.jjx88.com luck@)jjx88.com



LB 1RARFRRAR

novotechnik

O BB LB
S 101 %S 202, 205, 302, 305 EEM 33-64 / -66 / -68 / -65 / -67 / -69
I 1 3 it
Y 1 FH 4 i b3
- w2 S 3 e g
E g ‘
EEM 33.64 EEM 3365 3
Ha i Il
1T #4815 AR
BSED
002: 4tk
S
101: 3 #F M8x1 B Y, i
200: NT Hidfl 2 KL, 121 it
205: NT hiif 5 kM85, Frmdin i
302: NT Hrifl 2 K48, i
3065: NT 4idfl 5 K udi, i it
T E X 0 1 5 0 4 2 1 0 0 2 2 0 2
%31 DRSS
10 & F
8: Xfrhd M10, HHE (150 mm )
HEIT 2
2: A AR AT R .
TiEEEER
0010 mm % 0200 mm BhIPELR
ENTIE TR s 4 LR
biiee s EENBEIE REULER
PUR L8, 4 3 £ M8x1 M B B2k 2ARRT i M2.5 WAL P s v fink o5 R LA
3x0.34mm?, P67, A Bt (% 4 A M5x20 #2457 JA L Sk e 4
2 KH4i, WS, EEM33-64, Fof%ms: 005617 AL AP RE 2 #5 .
5 KkH4i, M. EEM33-66, refZms: 005619 SRR HE REE MAP L.,
10 kM 4E, #S. EEM 33-68, y“f4ms: 005643 B 52 MUP .../ MUK ... EER
T2
T JE 24V, FriEfE S .
_— ‘ fre L L
PUR HLEE, 7 3 £ M8x1 M ffi4: J o . )
) HFEar . MEMEE. bisb it
3x0.34mm? , IP67, Ailibiikc - oH
e - b BELAE Fn oy R TE DT R 80%
2 kH4gi, WS, EEM33-65, rtifmE: 005618 o e
e - . BUE, RS TEfEDBR
5kH4i, ME. EEM33-67, FEMfms: 005620 e L
10 kM 4E, #S. EEM 33-69, Ff4ms: 005644

FEA P FL B T S il

f& S ¥R MUP_ _ _

FEgy IR, R A R
(le <1 pA) BT HIAY.

AR, BARITEM
4

TEL : 400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com





